~ to tell time (ﬁs@ﬂ?mmqg); It + be verb ite Tk + % e s
A7d past/gone (after, US), S i £ » S|

TS ffvBa =17 to Gl TS a quarter |
| ; past, ¢t
s  quarter 10, e TS BT et hal, Hom /e THS sharp reze 27| Srady,

. mmcwww O RRGT e o ‘minutes’ FfS waRm A TS BT
s ﬁve/ten/tweuty/foﬂy (minutes) to three, fog fifese s ¢ QRSP 9wt ot Rifeesa et

1 1 1 aq' : * . 1
g TR minute/minutes' JIRT TS 777 | 14 i two/six/thirteen/twenty one minutes past four.

mﬁf' e | The clock/It h‘mwlock has just struck.
ma‘mﬁmf@?‘m AT | 1t is ten (0’clock) sharp./It is just on ten (=exactly ten o’clock)
a9 o7 T | It is a quarter past ten, Q3 T WY 1 1t is a quarter to ten, (of, US)
e oot e et RS | QT (@ MG Wi AT |
[tis ten (minutes) past eight. (after, US) It is half past ten now./It is ten-thirty now.
o B! TS A5 Rl G i | QT (I @Bt It is eleven o’clock now.
It is five (minutes) to seven. (0 = of, s %1% ¥ 0’clock % 7)
. SR B e | [KU (B) 14-15, RU (E, cers) 16-17]
a) It has just struck five. b) It is just five.
c) It is just five o’clock now. d) It has reached five now. Ans:a
2. Itis a quarter to ten now. - [5T erse ety
2) @3 G 751 AT | b) @37 371TE WweioT 7T |
€) 93 (ST eiGT e | d) 93 T e | Ans:c
3. Choose the right Bangla translation of “It is now fifteen minutes past four.”
2) 3 BTR0T (0 ~fTa G | b) @<= 51951 reTe st /G [b7 ereree Fama-33]
€) 43 BT T <5 ARG | d) 93 Bre5T e Sis fFG Ans:a
4, Identify the faulty sentence. [RU (Law) 07-08, e =ifawetad sz: stfiswem-oq, 8 T Ty 0)
?) It is quarter to past eleven. b) It is eleven-thirty. NSTU (B) 11-12
¢ It is half-past eleven. d) It is eleven O’clock. Ans:a
5. At8.45, how would you tell the time? [~ wfRweces s sfsEe-sy]
a) Itis a quarter before nine. b) It is quarter to nine.
€) It is a quarter to nine. d) It is a quarter for nine. Ans:c
6. When it is 3.07, how will you tell the time? [COU 08-09]
2) Itis seven past three. b) It is three hours and seven minutes.
y ©) Itis seven minutes past three.  d) It is seven past three O’clock. Ans:c

Which is the correct translation? BT 3terTe i G A | [(anofis e Free-oo, JU (1) 09-10]

A It .is Six to ten b) It is six minutes to ten
g 9 Itis ten minyges to six

d) It is ten minutes to six hours Ans:b
=0T S Vet el e [T @ STl Wikt TR ARsRER-38]
ia) It .is ten minutes to two. b) It is ten to two.

9 %It.ls tWo minutes to ten, d) It is ten hours to two. Ans:b
B '?h one is incorrect? [SrerT TEIETEE Ffess TS yu)
E))’ It ils quarter to eleven. b) It is a quarter to eleven.

MASi,'ER 52 Quarter of eleven. (US)  d)Itis a quarter past eleven. Ans:c
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o & 23 OFR greeting (’WW#) ‘

Greeting.

How doyondol_ et Cood L g,
e e WAAE A Ul Good afternoon! F°TCS & |
Good afternoon TS ' w1 ¢ae) AATEIS T Good evening! ?";W‘TE\
e Fitd A (aif@ 198 @& |

| 11:30 P.M. - aifr 55290 s

Good cvening q
11.00 pm —* . dnight Gelc greeting @1 >
2 1 gedi Good nig g o

: Good night T oo ol
Hewta fae e @ GO II you greet them? [COU (B)os-ogf

r nvbody at 11 p.m. how wi
° :: 3'::: :;e:;:n io grzet your friend at ll.‘00 pm, you shou:;lﬁs::fq;w m;wﬁ;:n]
Tl;e greeting is to be used at 11:30 P.M. is- NU () 06-07, JnU o
To greet something at 10 p.m., we say = - [ B Good da ,JnU (B) 12-13)
&) Good afternoon b) Good evening ¢) Good night ) y Ansb
11. Which of the following is not a greeting? [NU (&) lll 2, aTavrrm"f‘cnf?W T 3¢-38]
¢) Good evening d) Good night Ans:d

ood afternoon

f somebody at night, you say = [BSMRSTU (%) 11-12]

8) Good moming b) G

12. When you take leave 0 . .
Btata b) bye ¢) good night d) God bless you  Ans:c
13. We say ‘Good night’ — . [JnU (B) 17-18]
;) when we meet someone at night b) when we meet someone in the eveing
Ej when we take leave of someone at night
d) when we take leave of someone in the dark Ans:c
e femrg f9eeT good night 9109 X7 |

take leave of sb = ¥ FIR @7 RV (18T | FE FRS TR
[T FEEEE AT eI TIel-0y, Sy fRTEaT (TR T fifET)-3]

b) merely a formal greeting.

14. ‘How do you do?’ is -
a) an inquiry about somebody’s health.
| & . .
£) a formal question when one meets one’s friend.

@) used to know the profession of a person. Ans:b
Source: A practical English Grammar — A.J.Thomson & A.V. Martinet @3 74 8 127 *jB1¥ TR O3 |

15. rIf anybody says ‘How do you do?’, what will be your response? [COU 08-09]
‘ a) I am fine b) I do it well r(:) How do you do? d) I am a student Ans:c
How do you do?’ &® @eaid 46 &bfere wfeqm=/8Ed (merely a formal greeting)""%\?
A G AFCS A4EY Sfeama (formal greeting) f&ea How do you do? I3x® ¥ X
e me How do you do? 3 7 | ¥R, uf ecaiss ar ¥, @i Hello, Hi @7 Wrot &0
greet‘mg | Source: Oxford/Cambridge Advanced Learner’s Dictiona;'y (A) ‘hO\v” word 'ﬁ o |
16. i;‘:zlc)zlsz m/e, g(lentleman!’—‘Excuse me’ is used to — [+ S @mwwmm-
§ gy/apologis ‘ : ' i
Brurmion Bomavingm mviyy e
:t)f;?aﬁ;jwb) WA A w41 ) '#mmzfﬂrml;fg@:ww E:IT;(E) ls;pl:r]amj;;;
AT I B8 A wiedet ware | - by
S XCuse me GIREC I |

17. When . ot
. best):;l:ur:]:et a is;t‘ranger you often say ----, B 1, (C) 15-16]
W = b) let’s have fun ) nice to meet you d)you grg \(zfglfc.)-mé Ans:C

APPSR S A€ 7 nice
MASTER nice to meet you (W e AFFIS LA YT SITE #oet) |
1118
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jen We offer something that somebody has asked for, we usually say [BU A 15-16]

8. @ «njease have it’ 5) ‘here you are’
p) ‘here ijs what you have wanted’ d) ‘I would like to give it’ Ans:b
m-mﬁ‘? 51ReeT OILF S (APIT) crawt s 9e10w 27 “here you are (42 )’ |
sgive my — “’_ him.” - [12" BCS, arer@ i Saywa aics (w4, 2 @f)-¢]
) Warm compllment ?,2 Compliments
& Best compliment d) Heartiest compliments Ans:b

@mﬁm/uﬁzm.mmm A e HFEt T4t wied my compliments (to somebody)
-l Give my compliments to him. — SIS Wi srovgf e/ ©iCE WA 2wt G |

| L3

Which would be a polite answer to the question ‘How about postponing the meeting?’

20 - : 1\ ’ .
a) No, nota good idea. b) I’d rather you didn’t [BU (D) 15-16]
c) It might not be very convenient for the others
hj No, thank you. Ans:d

Rl NI FI9 (TG 9=10® TF No, thank you./No, thanks.

m your response to th(i ~t}‘ollowing? Thank you very much!  [IU (B) 06-07]
;) Me too! b) Yours truly ¢) Of course d) You’re welcome Ans:d

ThankS/Thar‘k you Te@ T IS W GOt TR Formal: You’re welcome./ Not at all./

Don’t mention it./ That’s (quite) all right. Informal: That’s OK /No problem

e = . .
72 Which one of the following is not a response to an apology? [JnU (B) 15-16]
;) Nevermind  b) That’sok  ¢) No matter d) Many thanks Ans:d

e g o g (apology) T O TN IS I That’s ok/No matter/Never mind
o (R FEIEH & O &S goese! (gratitude) WIFITS Ao 28 Many thanks

3. % 3% o QA TFRE I FUI - [DU (C) 12-13]
a) &5 T b) Rl e c) THO-THA d) ré-xre 3¢ Ans:a

2. The 60" anniversary of an important event is called : [T SfRmer Wt wzaid-sv]
a) diamond jubilee b) golden jubilee IU () 05-06
¢) platinum jubilee d) silver jubilee Ans:a

25. Diamond Jubilee S®® 23- [RU (Law) 05-06]
8) ot 7e7 4T b) et 27 TS ¢ T = d¢o T

B e d) “toren T=d |fere Ans:c

Silver jubilee = 7ere-gmar, Ao 427 A Jubilee = anniversary, TSI, IS |

Golden jubilee = sad- e, stesrt e 46 Ruby jubilee = s e <if$

Dizmond jubilee = Sraw-errar, w15 7w 4% Platinum jubilee = &% =7 &

26' [dentify the informal expression. (InU (B) 10-11]

7 QHI b) Thank you ¢€) Yes d) Yours obediently Ans:a

© Which of the following greetings is informal?  [reed srers et (gfwarat o T - se]

h) How are you b) Hows it going

,me)- How have you been d) What’s up Ans:d

i JW R IFTE AL AT AW AT TR wieafeeraz ' Informal expression
H(; ,CHO’ Cheers, See you, See you later/tomorrow/next ..., Take care, s0-S0, OK,

WS it s
M ASTS !t going?/How are things?/How’s everything (& vcez), What's up (f retra/?)
ER
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e I

: informal senten :
28. Which one is anl by Stop writing.

Hope you’re well. \ '9
R) Hope y fi) Cut yourts and dot your 1'S. Aty

©) A thing of beauty is a joy forever ’
l'ﬁope you're well TR Assertive sentence a7z @7 formal #916 ooz [ hope you’re well
he others? [FreTat frerTa e Sy

29. Which one is more informal than {

ﬁ child (518%) ﬁ) offspring '8; children d) kid . Ans:q
' ; a1 o informal @3 spoken < kid e eforg

me _

fre a1 amst wed child, offspring, kid T9RS ; '

mummy/mum/mom (), dad/papa/pop (), hubby (i), yep (3, “‘?PC (1) @%TANG informg)
de or orange juice? (otroff e At oTes P ---2)

30. “‘Would you prefer lemona

in answer to complete the conversation? [BU (B) 151

Which would you say ) :

) Have you got anything else? b) If you like. .

) Are you sure about that? d) What is your choice? Ans:a
1 Have you got anything clse? = (JAR/CONE NR) QR AT forg Wiy {2/ fog 122 j
31. Choose the correct sentence. (ST T IAR) [arern T SaF WIF (CFHATF)-30]

i} I have got a headache b) [ have got the headache

© 1 got headache d) I have got headache Ans:a

Ty T SRITEE FT @IS headaches/a headache ((X&F) IIZ® = | l

32, Choose the correct sentence. [&Tr-2 SR A 2] [IU (B) 14-15]

a) 1 often get a headache. b) I often get headaches

©) I often get some headache d) I often get some headaches Ans:b

=@ often, sometimes

277 headache €% RS (FRITT headaches/a headache TR T 1 (4
senfe TR AUF) Y FE Brg =t 4w headaches fog AT Srgd AFCET a headache |

'8 1 often get headaches. . [ often get a headache if I listen to loud music. (= TEe TIR)
% e. 1 often get a headache when I’ve been working on the computer. (e Trad W)
33. Hehada- headache. (9 39 Ay FAR) [29" BCS, JU (°) 09-10, BRUR (A) 12-13]

a) strong b) acute ¢) serious d) bad Ans:d
B’Z 21 ee m/aereE 9td a bad headache IJ3R® 2T 7@ bad 47 “ffTe severe/‘siliti'nﬂ
; swrfme @yez %21 77 | | have a bad/severe/splitting headache = S II/2TS T TR |

34. He had - of fever. [10% BCS, st sfirara Sopreecara (Fife)-os, g org: Frws-ob TR -0
_ a) strong attacck b) severe attack ¢) bad attack d) serious attack Ans:b
{ Severe (@b%, 47, i) = causing very great pain, difficulty, worry, damage; very serous
| e.g. a severe chest infection/leg injury/toothache/cold (&5% IF /269 T G/ wre )

’ He had Sf:vcrc attack of fever. (914 6% §a zrafee1) ['ve caught a severe cold. W w i TR
35. Wl;};:h of the following has an emphasis? [JnU (D) 15-16]
') ? e boat sank df)wr? b) The earth moves round the sun
g) Here comes Rafiq (¢ e sfew wping) (1) The boat sinks down ABSE

,(ggrr::;:; .s?rn}tence @ subject @ 4cd verb @it a6 emphasis/cera srert wCa | Go 1 must:
) There goes the girl. (& @ gt wicr) Down went the Titanic. (Eﬁﬁtﬁ?“f@i 1)

36. W p
e always have a — together in the evening, (4t »awi wiwar qwice «12)  [JnU (B) 17-18]
Ans:b

i)mean | o =
MASTER M meal (wr) B meat d) meet

d
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mh phrase would bes

t 4 ¢
B the scavenger of Naue descrlb,‘?~1 the' cuckoo’? [DU (B-EE) 10-11, InU (B) 11-12]
Ej the harbinger of spring E; a bird that does not sleep at night
= the que ;
[euckoo (CERP) O the harbinger oFspring (s S oo st
38. If we want concrete proof, sk b

RU (1) 13-14, IU (F, #f¥s) 13. :V ESI;Z)I ‘;Oki“g for-[26" BCS, w1 wgruts-oc, wmafie fre.o,
= i Dl M 1-12, 2 N

a) Building material by Clear(?vlizl 14, DPE arefirs s s (38)-3v]

6) Something to cover a pah q S

e d) A cement mixer s
7 Sl & (concrete/cogent proof) 513 ] Ans:
ISR LT R
39. Which one is correct? Ar%] (Clear evidence) d&te 2@

= Y REGIES Wwﬁwmﬂﬁmw—u]
?!) Itis ilglarlter past ten. b) It is a quarter past ten.
;)V;tllsh onz ?ssctzn. = d) It is quarter minutes past ten. Ans:b
40. b rrect: )7 [emSt ftetat coticart 197 firs wfieng-3q)
g) Itis quarter past ten b) It is quarter minutes past ten
c) It is fifteen past ten d) It is ten fifteen Ans:a
mmWﬁﬁ%wwWWW%C%HWWWaquaﬁerWWI
| B, WIS WKT a quarter T <ire quarter $&9 fAtad | @rwta quarter 205 less formal

41. Choose the correct answer, How long did you wait? [10" BCs, A TR i SfFR-se,

fl) Till lunch time b) Until 6 o’clock ~ RU (ser) 07-08, BRUR (F) 14-15]

©) Till he came d) Since this morning Ans:b
Till 7t informal ©1% Until (formal) & ®%x v 3R | 9w Formal English S <2t 23 |
42. Inotified — I had changed my address. [DU (A) 11-12, JKKNIU (A) 19-20]

a) with the bank that b) the bank that c) that d) to the bank that  Ans:b

assure, convince, inform, persuade, remind, reassure, tell 971 + object + that clause

43. She is the woman I knew; she prefers to spend her money on the other people
rather than herself. o [IU (B) 11-12, RU (AS) 12-13]
;l) most generous b) meanest ¢) most stingy d) most tight fisted Ans:a

[ generous = ©WIg, WA, WA meanest- $E8; stingy/tight fisted = o

[ & frem o O (TG T T FACS WS T FCAT O 200 most generous

4. The government has introduced -—----- [DU (A) 11-12)
;\) a children’s clothes tax b) a tax on children clothes
©) a children cloths tax d) a tax on children’s clothes Ans:d
45. The party was excellent, and I'd like to thaflk all the ---——--- [DU (D) 10-11]
R eoed psple ik .
c) d) peoples r :
46. s(;))\f)eiczgi:uclzzﬁiznf(icharacter as well as physical stamina. [JU (IBA) 11-12, (D)Aiﬁ-l;]
E) stimulates b) debilitates  ¢€) provides d) maintains ns:

47, Through the animal kingdom — bigger than the elephant. [CU (C) 16-17, RU (D) 17-18]
I B . 1
?):Whale is only the b) is the whale only

Sy whae s th B o A R
4] rIn spite of everythigg, life is wmt%‘li“‘;ing d) dancing [JnU (C) 09-10] Ans:c
a) eatin b) singing £
Wg ~ 1121
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: ? i ¢ RresHdwI Wi
require for this work? i f[’cw m

29, How — money do you B for
) many ) much " he could not afford the educational expe Angy,
50. Since the poor father — money, ¢ S g OB afros ﬁu::: of
his son. " o B d) had very little ]
8 bas very few B has s e 9 e f:’I\TIRA:)UM Y BEZA et
<1 The approprinte plural form of (480 F 5 yratumies oy
n) Startles b) Stratames c) St"“.d. - HEZA Wéxenm Ang;g
52. He loves himself. The underlined leord Is: . TI-0]
) Personal pronoun P) Rclatec'i p mnonoun
£) Demonstrative pronoun d) Ref.]exnie pre oplaint Is the Ans:q
53, The person with — you should — registering your comp mmanager, but
he’s unavailable — the moment. - [ TE (ADA)-y0)
a) which, be, for b) who, at, for ¢) which, who, atd) whom, be, at Ans:d
54, Which one is in feminine form? vy R SO ST FMa5a. 3]
a) Deer b) Bee ¢) Bull d) Horse Ansh
55 Identify the masculine gender. bl @At e ST TP CATI-Lo]
@) Spinster b) Ewe ¢) Sow d) Stag Ans:d
56, Feminine gender of 'Man'— [ SRASTAR IRCIBH HIGTES-20]
a) Lady b) Girl ¢) Female d) Woman Ans:d
57. —1I cannot help you in this situatipn. [t TG FEATHA TRFNN ABEF-30]
a) As much as I want bi As much I want
¢) How much as I want d) So much as 1 want Ans:a
58. After it was repaired the car — again. ST ol =i @RS (FI-SETT SFAE-20]
a) ran perfect i)) run perfect c) ran perfectly d) runs perfectly Ans:c

25 past tense @9 SI2 ran I R ICF run @7 w¢ operate/function (5<1/F1S F4T) B2 QT run
218 action verb R4 & 1 adverb T | CT&T gap 4 ran perfectly (e va1e) T |

59. He gave me five books. In this sentence which is the adjective?
[ L] SRR foaTa/Ties/cnfS GIHATE-0]

a) Books b) Gave ¢) Me d) Five Ans:d
five il books (noun) @ e JRTTE 12 five TR adjective =g &t determiner SMeAT &Y et
Traditional grammar &% numeral adjective &% @47 modern grammar @ determiner 9 IS |

60. Write the name of part of speech ‘fertile’ [Reraffia Bt eatA-20]
a) noun b) pronoun  ¢) ad W ididstive | :
e ¢) adverb d) adjective Ansid
B Lot correct noun form of the word "important'? [Ssfrsen/srr eI ot-fersa-20]
b Theypwhil:i; . b) Ir.nporta?tly ¢) Importanced d) Being important Ansd
B noun revenings with books and games. Here while is- [cr e (ADA))

63. 1am capabl b? Verb €) adjective d) adverb Ansd
i pable — doing it. (sfsy @5t w4re s7ww) | AraTafeRre Bot. i -]

in By o e To- e

b) of €) Wi d [ ?

L  witl ’ '

64. ;The test consists — forty queslimf: i o) for g
in by of I oo oo
MASTER &l with d) for Ans:d

— 2
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ﬂﬁyou aware — the situation in Libya?  [xemeet 11 coretf afpbirs car- s sfm-2o]

) for. . b) in £) on d) of Ans:d
66. ggadlng Is very good — children’s intellectual development.  [GT=F 31 (ADA)-20]

) at . b) on ¢) for d) in Ans:c
67. T-h EERRICS ﬂ"f',.'.“iddle — the room. [BEZA @7 S1ifmis5 Mard-20]

a) at, of b) in, of B in, at dj into, of Ansi
68. Students should attend — their lessons. [Ty A9 e e s it REs-20]

a) with b) on B at i) to Aty
69. Though it’s difficult to cross the river, don’t — [BEZA @7 7z ag-20]

a) break down  b) wash up c) give up dj put out Ans:c
70. :lihere is none to — the orphan. [oret a1 e ST (GABIE)-20]

a) look at b) look after  ¢) look into  d) look upon Ans:b
71.  Terrorists often use bombs to -— building and other kind of property. [sfsz= Taemms

a) blow in b) blow up c; push a) fall over =@ “fFsr@-55] Ans:b
72. His evidence bearg out the evidence of the first witness. Here ‘bears out’ means-

a) confirms b) nullifies i) attacks d)1 none  [cTE e (ADA)-20]Ans:a
73. Hereally can’t work out, — he has to go to get — information he needs. [T AES-20]

a) what, the b) which, to  ¢) what, to d) for, which Ans:d
74. Change the voice of the sentence- She never understood me, whenever I said

something. [&ee St eI SIS TTeE-20]

a) Whenever I said something, I never understood by her.

i)) Whenever I said something, I had never understood by her.

¢) Whenever I said something, I was being never understood by her.

d) Whenever I said something, I was never understood by her. Ans:d
75. Choose the correct passive form : ‘I have lost my wallet.” [+ @ 37 TEAECEE

a) My wallet had been lost. b) My wallet has been lost. i TGI-20])

¢) My wallet was lost. d) My wallet is lost. Ans:b
76. The passive form of the sentence ‘You should not scold the boy’ is- [z wfimeza

a) The boy should not be scold by you. HEFR (AMTR-20]

b) The boy should not have been scold by you.

¢) The boy should not be scolded by you.

d) The boy should not have been scolded by you. Ans:c
77. Identify the correct passive form: Tell him to get out of the office.”  [Rrx g o 1w

a) He should be told to get out of the office. S NI

b) Let him be told to get out of the office. Frefat T35

¢) Let him be ordered to get out of the office :

d) He is told to get out of the office o Ans:b
8. Father said, “The earth moves round the sun.” Make it indirect speech.

a) Father said that the earth had moved round the sun. [Frfire 8 I SFF (EARF-20]

b) Father said that the earth has moved round the sun.

¢) Father said that the earth moved round the sun. e
ﬁﬁjj&ther said that the earth moves round the sun. @

ER
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79.

ldentlfy the indirect speech: Karim said, “I know this boy.

n) Karim said he knew the boy.  b) Karim said that he knew this boy. w:.;:“‘
t) He said that he knew that boy. d) He said that he knows the boy. A:“]
80. Each of the players of our National Cricket team — practicing for years afte, yeas.c
[t T FEICRR AFST- et ag, Y. n
B have been b) has been £) were d) are An;i
81. The problem of squaring a pan-European agenda with national interests of 25
separate countries — the process of integration a slow, complex and at times
divisive one. LS St AT AT . %)
R) causes 53 often affect Ei have made d) resulting in Ay
82. Lreached the bus stand after the bus —. [TeTert C1g wg1ws aFPTba/Ma-abrors Sfafimy.
a) left b) has left t) had left d) had been left Ans:c
83.  Who will -—- by you? A [Betoem/aaar carm A a.0)
&) have been helped b) is helped ~ €) be helped d) is helped Ans:c
84. She is — all the time. ["""’lﬁ‘ff*\r 7eif ﬁmmmw&aw.qo]
§ cough b) coughing ) was cough d) coughed Ansb
85. My father arrived while I -- the book. [oreify e et e ST SR 7o)
ij would read E) had read cj read d) was reading Ans:d
86. Karim’s hobbies include reading books, watching TV and — mountains.
[areeTiomt mga—‘ﬂm FOTTa/AR-afFrES Hfefar-30]
a) to climb b) climb ¢) climbing d) having climbed Ans:c
87. Jalil can’t sing. His brother —. [SIETT (Tg FEHTFe fFGTHEa/AR-afrorS Jfufma-2o]
a) neither can b) either can’t ¢) can’t either ﬁf also Ans:c
88. People who pay their debts are trusted. Here ‘who pay their debts’ is-
ﬁ Phrase b) Clause bj Idioms gj Gerund [GT7F IeF (ADA)-20]Ans:b
89. Simple sentence consists of — [emefi st fre-1s)
a) four clauses  b) two clauses c3 one clause  d) three clauses Ans:c
90. Fire/Fine words butter no parsnips <% 3¢ &<5m- [RS8 AT A (PIE-20]
2) SrerornT Twar p) vy FA forg fore a
€) O AL LT ATt Al d) B 907 Y& oAl Ans:b
91. Zahara knows hqw to swim, —? [BEZA @7 7zt TJag-20]
a) don’t she b) does she ¢) doesn’t she d) do she Ans:C
92. He seems to be happy with his achievement, —? [S TSt/ (ST (l-SET5e-20]
a) wasn’t he b) has he ¢) isn’t she glj doesn’t he Ans:d
93. ’l have done my dgty, - [+ @ T T G 2Ee-20]
a) have | b) did I ©) haven’t1  d) didn’t 1 Ans:C
94. Itisn’t very hot today, —? [fage, ey @ Wi sroom weee faeer Sedl-30)
@) isn't it b) is it not ) isn't . d) is it . Ans:d
95. Antonym of ‘Applicable’ is- [t e P s (Gw1E)-20]
a) i inappropriate ) right way  g) properly ';I)’ understandable Ans:a
96. Identlfy the correct spelling, [Ffire 8 res ARSI M- -30]
a) @) Volaptuous b) Volaptuos g) Voleptious ) Voluptuous Ansid
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Q{Wonc is the correct question to ask? (5% @ #fegtt Jram Sor-Afasms-o)
Do you have a complain against me? complain (verb) a7
y) Do you have a complained against me? noun &t complaint
' Do you have a complains against me?
fl) Do you have a complaint against me? Ans:d
a8. wWhich one is connected to complain? [NBR @7 7z#dt atery #6743, 3¢]
B) Dodge B) Hodge B) Lodge (=) @) Grudge Ans:c
00, Which sentence is correct? [Wifit aa%1 wferarst wiraa waem] (e gt wfadt-ys)
B 1 lodged a complaint b1 lodged a complain
B 11odged a complained f) Do not complaint any more Ans:a
wferart wa/mitee w1 &ed lodge a complaint 3735® 7 | lodge an FIR/appeal/a claims =% o
100. Choose the correct expression: [COU B 08-09]

i) Almighty God B) All mighty God &) All-mighty God @ Al mighty God  Ans:a
%ﬁ wtd Almighty 73%® 2 | @3 synonym @71l 205 supreme, omnipotent, all powerful
Ef:ff@ﬂm wed Almighty Allah/God wet the Almighty &8 @3f&% cwua the almighty
101. Education — the darkness of ignorance. [IU (5) 04-05, RU (G) 11-12]

a) dispels b) dismiss ¢) chase d) widens Ans:a
Espel =¥3 ¥4 dismiss = “My® 41, ASH F41; chase = SIet 741 ; widen = &71fae 1)
| ee dispel T | FR, I TGS THSIAE 7 A |

102. Parliamentary democracy demands discipline and — to the rules.
[29™ BCS, 77wy foraet wiftweraa Seefands-se, Medical 13-14, CU (E) 13-14, IU (G) 14-15]

#) respectful b) adherence  ¢) knowledge d) awareness Ans:b
103. He is quite — in dealing with people. [31% BCS, er-emafi szerd - (..Few...)-3e]
#) impotent b) unstable c) imprudent  d) diplomatic Ans:d

104. A fact is said to be not — when it is neither proved nor disproved.
[ew farsa¥ (7@ w=)-d0, CU (E) 11-12]
B) false b) existing ¢) proved d) true Ans:c
105, They have — their support for our case. [22™ BCS, Sese #fft Sgw s el-30, BSMRSTU G 16-17]
Electorates have — their support for establishing democracy in the country.

(L=l sperey effowra way coibad) Wablfaeeita el ds wificie) [RU (3@f¥=r) 04-03]
B pledged b) disavowed  g) provided  d) deferred Ans:a

106. The court is adjourned today. It will — from next Sunday,
[wfAegm e (reedl sfwsq, Aa@d/er)-33, RU (B-Law) 14-15, JUST (D) 16-17]
#) readjourn b) remove €) resume d) none of these Ans:c

107, Many students will now be starting to — about their exams result.
(25" BCS, JU (w) 09-10, BRUR (¥) 09-10]

#) think b) eat £) work () write ¢) talk Ans:a
108 1 cannot — 0 pay such high prices, (% vyl g1 wficsie i mdy & ¢i7) - [28" BCS,
JUST B 11-12, HSTU C 11-12, @iefirs >e: e (on #diw)- b, wfaw afaews siwe afren Germient-e)
B able ) but g try i) afford Ans:d
109, He stopped his car — when the light turned red. (20" BCS, #fitas wfkwerad 7gemd *fisws -o4,
U (repapra) 09- 10, weffeora fadiwes @ fawaces 9@ gfiua sfeba-53, SESDP o € wfirs wwdt-se]

) abruptly b) equitably g) ambiguously d) invasively Ans:a

MASTER 1125)
.

CamScanner


https://v3.camscanner.com/user/download

own; it was an— )
) event
@e A

imd
110. Nobody knocked him S incident
5 accident ‘i’) D Hhuman by their creator. (ﬁb‘ﬁlif’ﬁ R wm%

: : —on
111. Reason is the highest fa:ﬂ@“y ; 30" BCS, CU (B) 13-14, BaNRETY (G)15_16]
I8 FEF WG LD e e/ | " oy &Y oi
W I]t;'llbtb d ) endowed c) pestowed @) i‘onf?f; ‘:3 e) given Ans:,
c SIC o
. i a1l them are 100118
112. People who assume that no evil can bef (14" BCS, CU (E) 06-07, BSMRSTU (E) 15.1q
B conf d) hensive
X , .ent ) confident d) appre Ans:p
f) ardent b) complacent o
, lanced —  [ETGFSIR 4B I £ (R TRl -3¢
113. To stay healthy we need a ba 22 BCS, 27% BCS, U (4 12-13]]

: have a balanced —
To stay healthy, we must plan to have -
a) diet b) food ¢) drink d) environment o

= W7 QW@W]S]]CFM qu‘ﬂs A 277 (TS 09 |
balanced diet = LER (335 $ ¢ )

114. Rubber is notable for its —. el ‘
a) lightness b) heaviness d) viscosity (Frge) Ans:c
Rubber o f&fogra 3 elasticity 99 Frare STl | |
115. 'Taj Mahal'is a-  [Ra= S e St TRRIA-dR, oW e (et we)-38, JUST (F, 3fen) 15-16)

B Monument b Castle () @ Tower _d) Mansion Lo, Ausa
Monument (JTOwTY) TR (HITH XoA1 I LI e a1 I e statue SI¥AT building ($)
Taj Mahal S5 *RSIRICE & TAOIE ~eied fifife building 9143 mausoleum (rfaeTy) |

116. The film was directed in the director's — way. [35% BCS, IU (G) 16-17]

a) confusion b) personifying ¢) idiosyncratic d) purifying Ans:c

ST ARDEeR Tl ey (o) fifers ARGE! 1 zrafeer w2 idiosyncratic 29 |
117. Cricket enjoys a huge — in Bangladesh. [KU B 08-09, T fier sfede-ss, JnU E 17-18]

a) follow on b) follow ¢) fall out d) following [35% BCS] Ans:d

2= article +adjective STz ©1% noun %< | following (noun/gerund) = people, supporters
118. Being fat does not necessarily kill you, but it - the risk that you will suffer from nasty.

c) elasticity

_ a) increases b) encourages ¢) emphasizes d) involves [35" BCS] Ans:a
5T =0T qrew! e @t core Y A (qF ©I2 increases A |
119. Women are too often — by family commitments. [35™ BCS, et 7w wgeiteed AD-39]
a) confused b) controlled  ¢) contaminated d) constrained (J¥7) Ans:d
e A, Alfaarfas wiftg fave ar snfaaifas s Al g w1 20 oI} consn@
120. ;n t!le 1_8t.h Century the Mughal Empire begun to —. (35 BCS]
] :) dlsccnmmate b) differentiate c) disintegrate d) disclose Ans:C
S 2K W ARl A [9% 208 G F0 IR disintegrate (e 26AN) WA |
. Class r.elanons and societal conflict is the ke d : » BCS]
B Feminism b . y understanding of —. 357 B
= - b) Structuralism ¢) Formalism d) Marxism Ans:d
iimﬁgm A AFCE A Aetafos @a Sdfon TSR @eTel ANTe (e @HE ]
< 0%d 0 H = S <) <
PO 372 SAifere “Afqader s famr ame sece |

122, Cricket is kind of pl i
¥ ! ‘ . l ; .' D H o
a) insect ll))) ‘}(})Iodl M )k;;.l (LO' ) [39™ BCS, cifeww= Gerers-2]
Cricket 97 w9 fara5 (< & DIr d) flower Ans:2
e oG e 2wz R ottt a1 @ 69w insect (Foerem) |
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{73, Hospitals - the sick,

[GEERRE S e L TP e ey ——— afiei-ov, 39" BCS)
operate _Bireat

) admit E nurse Ans:b
e IR PR 33 1 Sow 2w treat (BT *ah) | AfF et admit (SR wm),

RR/STABIT 1) 5095 treat @7t fafsar wrot a1 s |

i' »4. The word *florid® indicates

ek o . . - [39"™ BCS)
R) flour b) foliage €) floor d) flower Ans:d

m’(;;,'d = covered with flowers (T™N17s, yaifesrs) | foliage- (a1 strs a1 srworg AT, AT |

125. A soperific speech is like to — (Fares ae aw 7s w1277 I 1) [39" BCS]
l) be incomprehensible Bi appeal primarily to emotions
¢) put one to sleep d) stimulate action

Ans:c

126. Hot milk has long been a standard cure for insomnia because of its — quality.
@mwmwm mg%mm%%a%) (518t e Hfoarras s sfsEr-ou)
a) soporific b) malevolent & amorphous  d) desultory Ans:a

soporific- AT (W, =13 Bwrifir), w1 v ey ey a1 @it afE i or

}:f?,fl‘he parents became extremely —when their son had not returned by eleven o'clock.
a) angry b) annoyed ¢) disturbed  d) anxious [25™ BCS]Ans:d

128. The research/discussion is so — that it leaves no part of the issue unexamined.
(ftzwnﬁmmﬁ q@n?ri st v fRenfbr i weni® wordifrs AE) [CUD) 10-11, (C) 16-17]
2) comprehensive b) rewarding ¢) sporadic d) economical Ans:a

129. Can you — me a favour? (3ft & e qe5t Somm wars AETA?) [RU (I) 16-17]
a) do b) make ¢) doing d) making Ans:a

Do (sb) a favour- 3ets w3z F41; modals +subject + base form +extension
130. He got a — of land — his village. (¢7 o= A wfim @b fore /Aoy )  [DU (B) 11-12]

2) lease, on b) slice, into  ¢) plot, through d) lease, in Ans:d
131. Did you know Manik was a sophomore? The underlined word means —[BU (B) 13-14]

a) a first-year student b) a second-year student

€) a third-year students d) an outsider Ans:b

Sophomore = vg#Ifia wtere/faefamrec el auia BId; valedictorian = % Fv4A/CRT TA
132. w

€ couldn’t buy anything because - of the shops were open.[DU B 96-97,01-02, RU D 11-12)

I'saw — of my friends. (Wifit =% @507 SISC62 e ) [RU (B-Law) 12-13]
— ®al b) no one ¢) none d) nothing Ans:c
lione = pot one, or not any (¢ 71 41 (@62 77 &k none IIze T 1); NO ONE = no person;
1331 think I've made our position very ---- [DU (D) 15-16, BU (C) 15-16]
&) clarified b) clearly ¢) clear d) cleared Ans:c
134. A local company has agreed to — the school with football shirts. (DU (D) 15-16,
&) contribute b) supply €) give d) produce [BU (C) 15-16]Ans:b
135, 4 really enjoy the stories that are — in the distant future. [DU (D) 15-16, BU (C) 15-16]
. #) found b) set ¢) put d) positioned Ans:b
J,

Since the island soil has been barren for so many years, the islanders must — much
Of their food, (cicey e e infoa afG Fvet, it RBTIOTACE SIOTH S A ST 30 )
#) deliver b) import €) produce d) utilize (43 GR) 8+ 16),An5:0
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the survival of — 16)
137. Nature finds ways to ensure g the fitting d) the fits S:a

ﬁ the fittest Ethe ﬁtter%ﬁg = e e e s
the survival of the fittest ZCOR AJ0! S AR TR SIS SN

36 ArFTe THY W |
T @ T 1 T8 BT S A I A

breathing. (4 fTaCe s &0 -1F I mmmwm

138. XﬁOga s=a good. il b) treated, COnsiderable. [DU (A) 12-13)
a) takenl, co;mtrollmg 'dj considered, contr:Tlflil;;ng ! Ang:q

) not, slowly - ann- gfserarT % I FATIBAT 352 ) 09-19

139. h'i‘)he: committee considered him -—--. (% oT® o ]

o . BR . H . . :
a) for a genius F) as a genius Ei like a genius d) as if a genius €) a genius Atige
a) fora !

J A< |
R a1 1 1 41 S consider 97 #IF AR complement T, as ¥ LESIENCED

fog Rcaow <t <1 o7y 4t wed take @7 #cT for @3k regard/treat 9¥ M as IO |

140. Make sure you read all the — carefully before setting up the device.  [DU (B) 15-16]

- ] % B ; i d) files Ans:c
#) packaging bip aI?ers - ms.tructlons ;21 lained that he was paying too
141. After the governor’s third overseas trip voters comp B0 () 1506
i i --- affairs. .
Ejtttl’gr:itglnnon b b) domestic &) professional d) intellectual Ans:b
142. — that there are billions of stars in our galaxy. [DU (A) 11-12, JnU (B) 11-12]
-— that life began billions of years ago in water. N [DU (D) 08-09, (C) 09-1.0]
a) In the belief  b) It is believed ¢) The belief ~ d) Believing Ans:b
143. The university programmes — those of Havard. [RU (3mZfBr) 07-08, JnU (D) 15-16]
a) comes second after b) are second only to
©) are first except for d) are in second place from Ans:b
144. The attorney told his client that .............. [BU (D) 12-13, CU (E) 12-13, DU (D) 18-19 (3fe=)]
a) they had little chance of winning the case. AN T Taa 1w (FAT, 2T @if)-se

b) the case was of a small chance to win.

€) it was nearly impossible to win him the case.

d) the case had a minimum chance to be won by him. Ans:a
One of the professor’s greatest attributes is —. (ST ST TG WIB @t TCR--)

~ [RU (=) 05-06, (a1Be) 07-08, KU (@gﬁvﬁmm 10-11, JoU (C) 11-12, CU (D) 11-12, (B-1) 15-16]
h) when he gives lecture b) how in the manner that he lectures

©) the way to give lecture d) his ability to lecture Ans:d
146. People all over the world are starving — (371 Rl Rt STear<s ot SRR SHI0R)

o [DU(D)01-02, (C) 05-06, Sonali Bank (SO)-10, RU (Law) 08-09, (D-3ifer) 13-14, CU (C;) 14-15]
@) greater numbers b) in more numbers

€) more numerously d) in greater numbers Ans:d
147. The families were told to evacuate their houses immediately — [CU (B) 13-14,21-22]

'a) at the time when the water began to go up. b) when the water began to rise
RN . k

) d) in the time then the water raised Ans:b
Ipe Jurors were told to , [RU (Law) 08-09, CU (E)-13-14]
,a)._. talk all they wanted. ’

d) talk with their minds o A

He e iversi T L
4 W']l]tered a university -, (S8R 31t Hfoarmr.on, RU (Law) 08-09, BSMRSTU (C) 11-12]
#) When he had sixteen years b) when sixteen ,

€) when up was going the water
- b) make lot f i
b speak freely i ) Ols or expressions.
©) at the age of s; s ? years were his age
MASTER g€ of sixteen d) at age sixteen years old
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mcessary for the development strong bones and teeth. [RU Law 08-09, CU H 11-12]
) 1tis calcium B) That calcium

¢) Calcium ) Although calcium Ans:c
51, « that the English settled in Jamestown, [RU (Law) 07-08, (A) 11-12, CU (B1) 11-12]
© B n 1607 that it was 5§ Tha

, Lin 1607  &J Because in 1607 d) It was in 1607 Ans:d
52, The most important chemical catalyst on

D"-

dioxide and water react to form

B) whose presence ) which is present

£) presenting d) in the presence of which Ans:d
153, We should have tasty and — meals, [KU (BS) 15-16, w3fs frras sty Soprsdt ATAPTAL- 3]

Milk is — food. N [ty asﬁuﬁmﬁﬁauﬁm'oq,m@mmﬁwmﬁw-»]

) nutritious b) nutritional ©) nutritive d) nutrient Ans:a
|54, One of the two students is studying to be a doctor but — wants to be an architect.

W other b) another ) the other d) other one [SUST B 12-13] Ans:c
155. Because the first pair of pants did not fit properly, he asked for —.
. [ S5t #w61-08, BU (D, Ad. English) 13-14, CU (C1) 14-15]
5 another pants  b) other pants .Cj the other ones a) another one Ans:d
156. To understand it is one thing, to teach it is quite ’

- KU (S1fwm ) 12-13, RU (F-ce15) 14-15, BRUR (A) 14-15]
@) the another  b) another ¢) the other d) other

the planet is chlorophyll; --- carbon
carbohydrates.  [DU (D) 08-09, (A) 11-12, JnU (B) 11-12]

Ans:b
157. Of the two new trainers, one is experienced and — [Tt e fafese femyrr asfiraer- 33
Of the two new teachers, one is experienced and ...... [JU (E;) 13-14, PUST (C) 13-14]

a) the others are not.

b) another is inexperienced [CU (B) 02-03, (B-8) 12-13]
¢) the other is not. ¢) other lacks experience. [RU (Wm==zw%) 07-08] Ans:c
138. I have two brothers. One is older than I and - younger. UKNIU (¥) 15-16, 16-17]

a) other is b) the other is 'c) another d) another is Ans:b
159. There are three kinds of solar eclipses: one is total, another is annular, and —.

a) the another is partial b) the partial is other [DU (A) 16-17)
___B) other is partial d) the other is partial Ans:d

§WW@W(WWWWWNWWW) the other @3z wfZ®3 7

@@ w4 another aage 7 | foafta owrg one ---, another ---, and the other ----
160. Which one is correct? (@ T &7 =IPILR)

(SRR TYETE e wfeet-yy)

#) Here come he. b) Here comes he. IERH S WA SEAR-0
€) Here he comes, d) Here come Ali. Ans:c
161, Chooge the correct sentence, (& 1 ap WPCR) (993 NN e wEeT-3s)
#) Here comes the bus, b) Here the bus comes.
—8) Here the bus is come. d) Here is the bus go. Ans:a
iﬂﬂimmm a "

" @914 wq0e Here/There aldl &% 293l simple present 41w "0 f=ae:
':::C/'.T here + Yerb + subject (noun/noun phrase); Here/There + .subject (pronoun) + verb
162{?9‘% MC“I wifer wpice) Here goes the girl (& ¥ (ITEGT Wits) There he goes (& @ &7 W)
: IWhen @ man greets you by saying ‘How do you do?’ Your response should be -
i) Very pleased to meet you b) Fine! thank you [z wrRremfin-se ]
[HO 9 Thank you d) How do you do Ans:d

%ﬂdo?ﬂ G41cq 4 Tgtars How do you do 9#1ce &3 |
RS FEE
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163. Hazi Mohsin was — the poor. : B 1iind to iy
B angry with ) annoyed with £ ol with . k[:rlﬁx P N S e — Ansx;

164. Mother is always — to her cllildrc:?é - j indolent ﬁ@%.%] |
n) affectionate b) cruel ¢) harm e . Ang; |

165. Smoking is — to our health. - | o i 2 Tt ﬁf@%_h]
1) beneficial b) useful 0 advantageousd) injurious Ang:

d — the examination. (71 s (TAO)_;:i
§ to give d) to take [(<1rT) ¢ Ang. d]
d correctly? - ["‘J (B) 08-09, 11-12, 19-29)
8) It's a job I'd really like to have. by It’s a job I'd reaﬁy ;fte’ e,
©) It’s a job Id really like to have’ d) It’s a job I'd rea SR to hav‘e, Ans;
d = I would; would like = want, wish - ez

1a s I?
It's a job I'd really like to have. 1t’s = Itis; 1 ’
stoye1t %4 1 It is a job I would really like to have. aff @ o s orfal AGT (e o3
[FTIeer wregBs. o

168. Which one of the following is correct? |
b) Sophocles’ tragedies are famous

a) Sophocles tragedies are famous b, :
N d) The Sophocles tragedy is famous Ans:b

¢) Sophocles’s tragedies are famous
Ie7 CFL@ AT s T FA possessive case 41 77 @ I AT 0T s/x ACE A4RA s @7

S0 e ST syllable Swiaet Tt S 20 G O °s 4K 8 o am @ = |

169. Which sentence is with correct punctuation- [17™ BCS, eltefi st e (8¢ ofim)-sa]
a) Maria, my student, is on leave today b) Maria my student, is on leave today

¢) Maria my student is on leave today d) Maria my student is, is on leave today Ansa

appostive X I77© noun/pronoun/noun phrase 4 T A I (,) 0T |

170. Choose the sentence with correct punctuation. [DU B 19-20]
a) My aunt who lives in Sylhet, is a doctor.
b) My aunt, who lives in Sylhet, is a doctor.
¢) My aunt, who lives in Sylhet is, a doctor.

166. The students arern_’f prepare
a) to listen b) to work
167. Which sentence is punctuate

d) My aunt, who lives in Sylhet is a doctor. Ans:b

7<= non-identifying clause 5 subject 432 verb @3 T ICT ©4F & clause b7 Tow A1 30 () 37| |
171. To express ownership we use — after a word. [egep WiAmewd afFora-3)
a) coma b) apostrophe c¢) colon d) semicolon Ans:b
Ownership (FfEAT) FHICS FICA *T77 707 apostrophe (*) 997 & | Runa’s purse is missing. ’
172. The apostrophe (') is placed correctly in- [DU B 18-19]

a) My parent's home is in one of the town's posh areas.

b) My parents' home is in one of the town's posh areas.

¢) My parent's home is in one of the towns' posh areas.

d) My parents home is in one of the town's posh areas. Ans®
anra g wra frerarers A “ewm ol afeare ARty qeibte wafye | Premem A, 1o ¢
et TeAE J91 @i plural noun 9 possessive 20a e parents' ¥(< | singular +s/es = plural A
0 (44 apostrophe (°) 3% &7 | singular noun @4t noun 97 irregular plural @q ¥4 § @ o
apostrophe 011 @: a doctor’s responsibility, the world’s population, children’s clothes:

women’s college, two days’ leave 2@if | @i cnry fiff8 a6t *za g 2CaCE % town's T !
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W an egg is X’ery nutritious. (@ T 3@ <f2e7) [e2fiS erftweras AP (RTE-20]
Ei y(ixe Sh) yolk C) yocn if)‘ yuke Ans:b
yolk = m’ja TV | Separate the whites from the yolks. Separate the yolks from the whites.
174, The boy is dreadfully thin. (cer=iot vaw/Sret “A1set/carit)
The word 'dreadfulvly" in this sentence means-  [frr, gt @ affrer 7o e franerat FaET-3a)
) dangerously b) alarmingly  ¢) extremely  .d) disgustingly . Ans:c
dreadfu“y =1. e.xtremely, very much (I'm dreadfully sorry. I miss you dreadfully.) 2. very badly
175. This coatis — taka five thousand. (4% f6f 5 2rera S F[Eena) (CGDF #rfmom wfeba-34]
n) boug!lt b) worth ¢) sell d) available Ans:b
176. Which is the lowest unit in English grammar hierarchy?
(A& FIFAC Sty At ST aF @) (ot 3 werwwa Szt e (fifee)-20)

&) Morphemes b) Clause ) Words d) Sentence Ans:a
{77. Which is not a grammatical unit? (et et Fifeferam e wfea-sy]
a) Clause b) Morpheme ¢) Paragraph  d) Phrase Ans:c

@ Sentence (highest unit), @ Clause, ® Phrase, ® Word, ® Morpheme (lowest unit)
(W/ﬂﬁ'w (=) TSrES rank O SRS ATFE/FTSA rank 4T @ 1 GIEF unit 7 @S |

178. How many parts are there in a letter? [5>v o faw-so, awrrmﬁrﬁvasﬁvm mm‘r-w]‘

How many parts are in a private letter? [Wrgfie e firws-o3, IU 05-06, 10-11]

a) six b) three ¢) four d) five Ans:a

Private letter @3 Sz & 1 1. Heading 2. Salutation (7¥1e) 3. Body of the letter (FRGE P9
wed) 4. Subscription (e.g. yours faithfully) 5. Signature & 6. Supercription or Outside address

179. Which is the most important part of a letter? [Argfir s fir-03, TU (1) 10-11]

a) The address of the receiver b) The address of the writer JKKNIU (B) 12-13

c) The body of the letter d) The signature of the writer Ans:c

180. Which is a proper subscription for an application for a job? [KU 05-06,1U (A) 14-15]

a) your’s faithfully b) your faithfully ¢) yours faithfully d) you faithfully Ans:c

181. The letter to a friend ends with- [y SRweER afBmes-13]

a) Affectionately yours b) Yours Affectionately
! d) Faithfully yours Ans:c

Forms of subscription: 1. To relatives and very intimate friends :Your affectionate father/ |
son/friend etc; Yours affectionately or Affectionately yours 2. To friends: Yours sincerely,
or Sincerely yours; Yours very sincerely, or Very sincerely yours, Yours ever, Ever yours
3.To superiors : Yours obediently or Obediently yours 4. To strangers and business firms:
Mthfully, or Faithfully yours, Yours truly, or Trully yours

182. Which of the following can be used as ‘salutation of a letter’? [JU (C8) 15-16]

a) Thank you very much b) Dear sir/madam
¢) Best Regards d) Sincerely yours

él paragraph must have —

¢) Ever yours

Ans:b

183, (s st fre-vo, PUST (A) 14-15]

b) a single idea or topic

2) an object
o) ton; ' - b
i ¢) topics d) more than one para z;n;l
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—— [enore= ST /v o
184. How many paras are In the p.|"grﬂ|?:r:/pnrns. ["’”"“ﬁ“‘ﬁ-::ll
aph must be written In = (4% eromrs g,
e P aragraphs are there in pﬂ"ﬂllrﬂph? e P 3]
:ow many p B two g) three i e ﬁ:::s:a
me .
IRS. A ;)nrnarnph must have w;hcm;;/':rs::fs'lm foras frmat (aaToviTlt e, gfera 3oz, m)::]]
e jth — theme/themes. )
%pamgu aph dcnlb\:wo Bl three d) four [wﬁ“ﬁ;::s:a
Y o raph has - important parts in a single Pi[ra;1 -33)
186, a l;arlﬂ PR B 2 03 d) » ﬁ::tﬁ:s:c
, rence can be put in the paragraph —. ]
187. A topic sente d’ anywhere Ans:a

R) at the beginning b) in the middleg) at the end . i s
188. The main idea of a paragraph lies inits -  [A@ TERIPAH w7 T

R) first sentence b) conclusion  €) body d) topic sentence [42-?:::
189. What is the function of a topic scn('cncc? | e ]

) To introduce the topic 'b) To ana Ysj e id:a -

) To present the main idea d) To expan :

' NSTU (C) 13-
190. The first sentence of a paragraph is called — [ (C) 13-14]

#) topic sentence b) top sentence ¢) proposal  d) prime sentence . ?;T;a
191. The controlling idea of a paragraph is reflected by- ' B_c S]
The controlling idea of a paragraph is known as- )

a) topic sentence b) terminator c) clincher sentence d) body of the paragraph Ans:a
192. Cohesion and coherence is essential in : [5% oS ffFE-Y9, AT BT S oA Ty

a) Letter b) Narration  €) Preposition d) Paragraph  [RU (E) 18-19] Ans:d
193. :.,inkcrs are used inv— . - [wwﬁwq:z]
) Report b) Short story  ¢) Essay d) Paragraph Ans:d
194. The last sentence of a paragraph ff calleda- . [JaU (D) 12-13]
#) terminator b) linker ¢) introducer  d) topic sentence Ans:a

Paragraph ztw «#f5=@ idea/topic/theme 7%fe® @3 7w 3541 | Paragraph 9 ﬁ‘s—-{fﬁ T ATE |
beginning, body (paragraph @7 &9 & ¢ I AW JRGIR TR body) @R concluding remark
Paragraph @2 main/controlling idea &T/1ar AFIF topic sentence IC=T | AYETS Paragraph
@7 S¥TE lopic sentence 407 | Body 47 (1 A o main idea (& SITEMSNT &I FE STAAS
developers @71 | Paragraph @@ 714% sa1fessa/c«m a0 terminator I |
195. In which form of writing is needed to mention the date and place of writing?

#) Paragraph b) Essay ¢) Report d) Novel [aw sreres fawa-33]Ans:C
196. Which point should be considered when preparing a new report?  [SUST (B) 14-13]
#) Give attractive information b) Note to include people’s comments

€) Should not include reporters point of view concerning the incident
@) Preaching at the end of the story

MASTER I @
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£) Using attractive vocabulary to charm readers Ans:e
Mo 197. Which one is very important in a “News Report”? [ eroree AW |
' ..’ An imr(')dlfciiun b) A short eye-catching head line
; A descrption ) Conelusion i
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